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#define TRY NUM 5

int main()

{

< num °NIjZX8 19010 M >

revealed = 0; tries_left = TRY NUM;
while ((tries_left > 0) && (!revealed))
{
< I@Znwnn N7190 X7 >
< tries left—-- ,N¥nl X7 DON1 ,num-21 11907 NN W9T >
< 1D TU NIVIT'n N11900 NN 1¥n0 >
< revealed=1 ,niviT’ N171907 2?25 ON >

}

return 0O;
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#include <time.h>
#include <stdlib.h>

int main()

{

unsigned int num;

srand (time (0)) ;

num = rand();

99013 >3 110 DR 7790 time () OXpPN5a

.(00:00 1.1.1970 &1 naws 501 2"72) Q7w
.<time.h> 779021 NN
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1D 0377 known_dig T NP1 A0 7INWnNRa wRnwl e
.unsigned int 01DWVA

WHNWNI 12w 2R 922 1 90nw 7017 1907 10770 117 1000 .
:SWnY ANk 2191 222 0-1,777907 DX 79%)

27564 X177 num 19017
2—-64 779 7Y 9N NINDOT
10011 : 17 known_dig
OYrA T © 6 P9 - 291N - 2WnNR YT X 5

YPNUAN WININ NNYYP

7Y NOWNIY ,Q%W 901 WANWNAIN DRIIPY AR? 21001 .
PP 717190 19K R RAPIW 100

YIX°2 OWY) NNR O¥D Mh AR 010°09 TIRW D .
.do—-while NXY2 wnNWI (V9P7 NRMP

do {
printf ("\nenter a digit (0..9): ");
if (scanf("%d", &digit) != 1) {

printf ("error in input.. bye!\n");
return O;

}
} while (digit<O0 || digit>9);
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for (digit_pos=0, num_tmp = num;
num_tmp > O;
num_tmp /= 10 , ++digit_pos)

current_dig = num tmp % 10;
if (current_dig == digit)
{
digit_status =
known_dig / (int)powlO(digit_pos) % 10 ;
if (digit_status == 0) {
known_dig += (int)powlO (digit_pos);
}
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,Jknown_dig %2 num %W M50 DX 2212 1103
SN 0%, = N IR LTARNNT 7907 DR OO 93 097N

num_tmp = num;

known_dig_tmp known_dig;

while (num_tmp > 0)

{
current_dig = num_tmp $ 10;
is_known = known_dig tmp % 10;

putchar (is_known ? current_dig+'0' : '-'");

num_tmp /= 10;
known_dig tmp /= 10;
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PHYNA OO NN
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'— ' \0 0°0°07M 1R ORW T2 7P°72 P01 L, (27PN Apw) NITN
I qwno prwnn — 1wsd

revealed = 1;
while (num_tmp > O0)

{

is_known = known_dig tmp % 10;
if (!'is_known)
revealed = O0;
putchar (is_known ? current_dig+'0' : '=' ));
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revealed = 1;
while (num_tmp > 0)

{

putchar (is_known ?
current_dig+'0' : (revealed = 0

D R B
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021w 2w 1901 DX 910V DTN ,tries_left

#define TRY NUM 5;

int main()

{
unsigned int num, known_dig, num_tmp, known_tmp;
int digit_pos, good guess, tries_left, revealed, digit;
int current_dig, digit, digit_status, is_known;

/* choose random secret number */
srand (time (0)) ;

num = rand();
known_dig = 0;
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revealed = 0; tries_left = TRY_ NUM;
while ((tries_left>0) && (!'revealed))
{

/* read a digit from the user */

do {

printf ("\nenter a digit (tries left: %d): "
tries_left);

if (scanf("%d", &digit) != 1) {
printf ("invalid digit.. bye!");
return O;
}
} while (digit<O0 || digit>9);

4
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/* locate digit in secret number */

good_guess = 0;

for (digit_pos=0 , num _tmp = num;
num_tmp>0;
num_tmp /= 10 , ++dig_ pos)

current_dig = num_tmp % 10;
if (current_dig == digit) ({
good_guess = 1;

digit_status = known_dig / (int)powlO (digit_pos) % 10 ;

if (digit_status==0)
known_dig += (int)powlO (digit_pos);
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if (!'good_guess) {
tries_left——;
printf ("wrong guess!\n");

/* print the digits known so far */

num_tmp = num; known_tmp = known_dig; revealed = 1;
while (num_tmp > 0) {

digit = num_tmp % 10; num_tmp /= 10;
is_known = known_tmp % 10; known_tmp /= 10;
putchar (is_known ? digit+'0' : (revealed=0, '-'));

}

return O;
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